Dividing by Powers of Ten (A)

4,800 + 1
48,000 + 10
480,000 = 100

4,800,000 + 1,000

349 + 1
3,490 + 10
34,900 + 100

349,000 = 1,000

75,500 + 1
755,000 + 10
7,550,000 = 100
75,500,000 += 1,000

761 + 1
7,610 = 10
76,100 + 100

761,000 = 1,000

808,000 + 1
8,080,000 + 10
80,800,000 = 100
808,000,000 + 1,000

328,000 + 1
3,280,000 = 10
32,800,000 = 100
328,000,000 + 1,000

86,900 +
869,000 +
8,690,000 +
86,900,000 +

704 +
7,040 +
70,400 +
704,000 +

5,700 +
57,000 +
570,000 +
5,700,000 +

443 +
4,430
44,300 +
443,000 +

58,000 +
580,000 +
5,800,000 +
58,000,000 +

161 +
1,610 +
16,100 +
161,000 +

1

10
100
1,000

1

10
100
1,000

1

10
100
1,000

1

10
100
1,000

1

10
100
1,000

1

10
100
1,000
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